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assumptions and decide which of J‘EE (&) gﬁ 1 3 v ﬂﬁﬂmmi I
assum~tions is implicit in the stalement : - . o
it vder of (B) a1 371 FFEm
Statement : Th: colice powe , e
company X 18 quite better in taste (C) @ew | 3R 1] 3qam I
than the much advertised cofiee of (D) F&7 LTy miﬂﬂi i
mﬁg:r;}; L [n following question stuements are
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spend more cn advertisement. by mm:]nsmnls_ Rea:! the mm]uguns
. Soms people are tempted © buy a and then decide which of the given
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a1z 2 | hem, wee P am 3 2
Direction (55 and 56) : Read the following

information carefully 1o answer the guestions
grven below :

Devesh, Gautam, Aditya, Byom,
Chandan, Harish, Fahad and Emi are eight
persons, having a different height Devesh is
shorter than Aditya, but taller than Gautam.
Emi is taller than Hansh but shorter than
Chandan. Byom is shorter than Devesh bui
taller than Fahad. Chandan is shorter than
Gautam. Gautam is not as t2ll as Fahad.

55, Pofefm das ssigaasmg?

Imwaﬂtmﬂ%m

iR T R A, BHRITSR
‘A BFWEZ;A:B FIILAB

A+p madd A BEIfEE; A
‘A x B I

1 ol

Al
Read the following
information carefully and answer the quesions
given below it

*A+B’ means ‘A is the father of B™; "A —
B’ means “A is the wife of B"; A x B” means
*A is the brother of B'; "A + B” meags ‘A is

i the daughter of B'. F:‘*ﬁf’ HE
27, afp:R+s+Q. A TEFER T EY
t 4 T‘E\Iﬂiﬂnﬂ‘
(A) PQFITFR, £ % pe
(B) Q.PHr=mia &
(C) P.QFNFAR
(D) P.Q#ATE |

If P.+ R+ § + (, then which of the
following is true ?
{A} P isthe aunt of Q.
{B) Qisauntof P.
(Rl (C) P is the daughter of (.
(D) P is the mother of Q.

(A) wee (B) =

© =m @) 53, FP-R+Q F=tfanidashaex

Which of the following is 5* shortest ? L -Fﬂ

(A) Fahad (B) Chandan (A) PQ#EARI F

(C) Byom " (D} Gautam (B) P,QWINEE| Mo
56 Bofaferiash @ d s d? © P.QsfmR

(A) it (B) WEg ®) P.Q#r TR

© s D) it If P+ R + Q, which of the following is

true ?

Who among the following is shortest {A) P isthe mother of ().

among them ? (B) P is the brother of Q.

(A) Emi (B) Fahad (C) P is the father of Q.

(C) Chandan (D) Harish (D) P is the sister of O,
& 7 MM3
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which of the following  answer E 5. it
frgures marked as aplion (A (BY, (C) § s
and (D) satisfies the same condition of | .-'J..rran_y..f s |
placement of dois 25 in the Queestion m:mltngu q ,,' .

Figure ? -' I Milky-way 2. Sun

Moor 4  Earth

3.
5. Slars
Ay 3,424,511 (B} 254,51 ‘.
o) 43,251 '

(3 1,53, 24

given helow 10 3 ‘

(A) 62. o £ v T wh A o 9 A, e
it F @ 129 mm%iw,ﬁqﬁﬂ
7T [ et im AT

o L gafrmeRin

{B)
Q i a row of children facing north, Rohan
is 12" {rom the feft end. Suresh, who 18

(€ @ : 2926 from the right end is fourth to the
4,5“* right of Rohan. Total how many children
» are dhere in the row ?

e (A) 36 (B 35
D} | b A (e o 3 :

63, Taofufad v e A o

I
!
v
o AT AR EE AR i wt T | W o

Following Question has four altematives,

i e W g W 43 U EiR e | 5,
i among which one completes the Gigurgs.

Efﬁﬁ ok fﬁ & s Wﬁﬁ # WEEF | Choose the correct alternative,
L ﬂummrﬂéﬁn;ﬁmm?m mm;’ﬁuﬂﬂnn Figure
ERERIER R, |
Same horses and same number of |
persons were going somewhers. Half of [ e
the persams Wete sitting on cheir Tiorses 7 -
whergas remaining persons were walking ol ‘|
and leading their homes, If the number 3 FFEAT | Answer Figures l
of Tegs walking is, 70. then how many : LA '
horses were there 7 i f‘ {‘ Vq
(A 14 {B) 16 ~ B
{C) I8 (D) 16 (A)  (B) €y M

wa o Ty = St -
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morpirauat ¥ 7 & birdhouse
heelmorpir 1 HH 2 Bluekird
heelclak %1 3% 2 pluebell

fom e &7 398 “houseguest” RS R 7 |
Here are some words translated fror an |

artificial language :

morpirquat means birdhouse
beelmorpir means bluebird

beelclak means bluzbell

Which word could mean “houseguest”™ ?
{A) quathunde iB)  beelmoki

{C) moipichunde (D) clakquat

firw, 710 yrad] 1 GUTigERe & Safeua B 3
Arrange the given werds in alphabetical
order and =elect the one that comes last
Nomenclature, Normal, Wobblz, Nostril,
MNocent

(A) MNomenclature(B) Normal

(C)  MNostl (D) MNobble

Frerferfian STl &1 wRYEE SR W
3i 41 i T gw @ IWE | T FAW

w7t & Sanfen g e Ry d |

Zf2 rasphun %1 374 # preaking dawn
ribpute 1 el ® throw away

putehun =1 a1 & away dawn

garrrasp =l 4 ¥ window breaking

&7 @ W throw ball” & ¥ =
wfafaferss @ @ & 7

Study  the following  ‘nformation

carefully and answer the question given
pelow. Here are some of the words
translated from an artificial language :
I rasphun means breaking dawn
ribpute means throw away
putehun mearns away dawn
garrrasp means window breaking
Which word may represent the meaning

?
of “throw hall” (By puterasp

(A) ute .
(C) fi?;thEn (D) ribcopr

'ﬁ{m 18

;e o« B f:t:ﬁwrﬁaa TR 1 T T
&ifam :

If + means —, » means /, — means + and /
means x, then find out ihe answer of ihe
following question :
(52 % 13)4 ST,

(A) 16 (8) 17 el
D1

68. Syt g9 w1 eyds 3w il 3
HE T =51 WA

Study the following guestion carzfully
aral choose the Tignt answer :

T8 defers wEN v Fifay s wm
& w9 d apfa (1) R

Find ow the alternative ligere which
contams figues (7) as its part,

2]
]

e
()

(A) (B) (0
69, =T I FTHEl § @ wh A 49 R
7o B aAr T wHAT R 7

Among the four arswer figures, which
can be formad frem the cut pigces given

below ?

L EEd aﬂfﬁl J/ Question Figore
I Slﬂvﬁ!ﬂ /| Answer Fti:l:-:ures

21 1] 0

(A) (C)

(B) (D)

i
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If "K" denotes “mufltiphed by", “M"

depated “sultracted Soem”, "1 donotes
“added " and “L" depotes “divided
by", thea

MMM KSLI4I60~ T

(Al 16 (5) ¥

(iC} 15 Dy T

Pt T % s T Ry

g | T F w9 H weifte SO e
ﬁ“ﬂﬁfﬁ'&:

wTHT T T IS o =i & Taeed
I G, W, T M-

(A} gRfaa =i B o w31 e frn pe

Siealen il el
i72, Pafufn w7 & 9@

B

Em a0 ST 2 7
Wz wam # | yEEE I 0 @ EU
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@ﬂmﬁmmyﬁmmg?%
. e 4 o ferg e |
_ﬁ{m aﬁm w-Fren ) tery 3
ﬁtﬁ?ﬁﬁ I
(C) e il 3 =8 w |
(D) ) % FRwiE o g s sk
e foren i fer wa wiwom w i |
Ta the following question four probable
answers have beea given. Select the
Fiost  appropriate  alfermative a5 the
answer

7 o A |
e 5;5;;?; e s Yeu have gone to enjov 5 Diwali Mela
(B ﬁma:ﬁ@m : it orgamised by 3 club, Suddenly you come
i across a lost chnid cryi desperately.
a:.jﬂ‘i"::a-:rt‘rﬁ F1 AT & A § g (A) ask him to stop efying and wail
: ] Patignitly for his parentg,
(05 3 L {E} ask the child to find hig
S Ii 1€} meglect and wapy, away,
T - _ (D) romact with the elub authorities
0 the following gquestion fiwr probable 4pd mtake an announcement for the
answers have deen given. Select the moer parentg,
2Ppropriate aliemative a3 the answer -
At midnight you heard the voice of {19 % Rftm o9 L L T
_ _ : ROWD® =i
several persoms shout “Fire, Fipe "
¥ou woyld- o 5 ?341,59;,4 * i % THn t I
W) Ensure where the fire had tajen TRHICK” &) Iﬁliglgg?ﬁ"ﬁqﬂ pifs
B F‘:‘:WWWhat extent. ng—ﬂmﬂﬁ 'FHUGAL‘E"T#'&
ﬂﬁf“‘wﬂ% “"J'ﬂ;l_ bluckery I R am ¢
(C) Hfﬂg: S the 1 the fire, M a cerlain enge (Angua ', v
the fire. about f’ﬂdﬁd 4 162491997 How  will
(D) Continue 10 Sheey o o FRUGAL® be coded in that language 7
Sloee ler = 11229 my )s21001201
we s ) st
.“""'-"l-\.l-—-.

emna e
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T4. HTUH TR
(i) # wmtae T8 B8R % fn wdleo
a1 % forg wmy T B | TR R AW
frt oo How & i g Tl e
§, W@ W 91 29 =16 75 2 T s sEe
figeTes T A TP {39
(a) TRufr W wET & R el e
=t Hi |

@) Tl wawd % Rie fid o &
Hra 2 FE = |

(C) T T W T g S felew
Eb el

(D) ga1 7 23 @ Pl dzw ()
¥ i- T2 TR T | ‘

You have been asked lo give an

explanation for not atteading  an

important  official  meeting.  Your

iptmediate boss who has not informed

you about the meeting IS now putting

pressure on you not to place an

allegation against hime/her. You would

(A) admit your fault v save the
sTtuation.

(B} seck an appointment with the fop
boss 1o explain the situation.

{(C) i::td a written reply explaining the

1.

(D} put the responsibifity on the
co-otdinator of the meeting for not
informing.

75, P, 0, R, S, T, U 3RV S # ¥t qa
g a ¥ | P VIS F A A
IR M hed ag@ wWHAMER QN
URd R | Q TR uEHad 8|
R,
Q.R

? *
fFrfafga i d s aea suT d 7
(A) RLUBSHeEARE |
(B ¥ dig ard W R |
(C) T,Q%edsindmmsg)
(o U THImaiaami
P,Q.R 8, T, Uand V are sitting along a
circle facing the centre. I is between V and
8. R, who s 2 1o the might of 5 is between ]
{) and U, ©Q is not the neighbour of T.
Which of the following fs the wrong
statement 7 -
(A} Risto the immmediate right of U
(B} © isto the immediate lefi of R.
(C) T is third to the tight of Q.

{D} U is to the immediate left of T.

sfwrier ¥3% {76, A, B, C. D, E, F 3 G am fird uw dfis &

T H AR IRE I R

I, DCHI=TER

2. E3AFPHISEIE)

3. B, G e § i wed adl H
ﬂ Agmtem R |

4. ﬁﬁﬁﬂaﬂtﬂil

pfiffaani?

(A) zAAWEd (B) WERTT=E

() sHagEh (D) TiaEd

A, B, C D E Fand G are 7 friends

sitting in a single row facing North.

1. Dis o the immediate right of C.

2. Eand A are neighbours of F.

3. B is to the immediate left of C and
oh second place from left most

end.
4, A isat the right most end.
What is the position of E 7

(A} 5™ from right (B) 5% from lefl
(C) 2™ from left (D) 2 from right

77. T g 20 %en g 1 i fgm 2 g

qEE 10 wew dgm §, ol o yEe o
&en grgan B, 3 fim & and g S wam
vz & it e wrd qEeT 12 wad e
aft 3 & Ard T e 6 Fam JgA R |
@ w1 ga e g d 2y

(Ay ufygm (B) IW

) ™. (D) afo

A rat run 20 step towards East and turns
to right runs 10 step, and ums w
runs 9 step, and again wims 1o left

step and then tums lo left runs 12 step
and finally turns to teft and rung 6 step.
Now what directian is the mt facing 7

& 11

(A) West (B) North
(C) East (DY South ‘
MNM3
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L g
s

T et s i P = - - ﬂﬁ%‘ﬁﬁ
hwllwmlﬁﬁhﬁﬂ?ﬂﬁﬁaéﬁﬂ EL vﬁﬁ?ﬁqﬁvﬁﬁﬁﬁm%m

f 3 : = i w1
S T FReRATE T T
5 fidang] (TR NTATE
}sﬂﬁmﬁ e ifiet 2 € . | Select the aliernative “.htm‘r-cpll-;tﬂinmlz
G T2 R | P.H& CEER RECE | three out of the fve alteraltve g

g d | M. L TN W KT frm @, | which when fitted into each ather would

S o e B | UL H R g o : form a complete sQUArE; Q

ﬂwrﬁﬁméu.}mgwﬁﬁg [ll:rj%

'ﬁ%ﬁﬁﬁpqﬁ% i [ ] : : . ;
frafafm g A e Waag 7 : ) 443 B 35314
Study the nformation carcfully and : iy i.2,3 (D} 2.4.5

answer the question given below
Eight persons 15< in three generations of Fo i | 3 1) g @ | ot T
family end two marmed couple. P__ns the 5 2 R &% By o 2 WA
san-in-law of H wko has three chiidren. -

£
4
¥
7
:
Ex
3
4,
al:
5

I

M is nephew of L. W is father of K, who ; 5| i
is sister-in-law of U. U is only daughter é ;‘;E'Tfﬁﬁ ETPIN p.-‘_
of H, who is the father of N. L is & i I 3 f\ﬂ
gﬁmam:d_ N~ and K den't have an}.'i_s ll.m Yﬁgﬂiﬁgﬁxiﬁgé J 1
Who among the following is son-in-law ‘H' ;ﬁ?ﬁ X W1 Wy Y
_ A - §E{A} i | an [ vamm & ,
. r:-}: M (B) 11 3w 7478 & Faen | oo Taim !
€y u (0 : TR

TR g § A 78 39EE i e (C) ;gﬁgfnm%mumwh /
— N 'I

Fram I TreaEs g () i wheaiia r

e Pk (1) D) AdIRAA N TERE

ok The question below consists of 2

questing and two statements numbered |
and If given below it. You have to decide
whether the data provided in  the
statemnents are sufficient o answer the
question. Read both the stateinents and
gl‘r'ﬁ AsSWer,

Question : How is X related to Y 2

Select 3 sulble figure from the answer
figures thar would replace the guestion
mark (7).

I A Problem Figures

NPEE

[N
B T N S PR LT M g T T Y DO WYy i e o

|. Siatements :
0 30T i b Y and Z are children of D who is
! are ¢
£ | Answer Figures : wife 6£ X : of D who is

[l R's sister X s martied to Y's

,_}J‘J_\ﬂu[_% J\J\%@ (A) Eii];:er{i or 1l is sufficjent.

(B) I aione is sufficient while T alone

i

Eﬁ{-]! ] & {2) {3) {4) {5 ; 15 not sufficient
{H} {2} ;’ E:C} | .all]'l]e 5 Suﬂ"'l' .
© M D (4 i oteicient W e
e e i (D) Neither I nor 1] g sufficient,
12 =i e

I
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g2, FHfdiEd Fwen §, U W S fF e | 83,
B |
gy o A 1 [ 3T 1] e R om d
TG Tg 74 & 2 R F weE F fan
TN 7 W I A % fem wmm g et
FYAl ) EYES T AR T w R
a0 v 1 S 5 e e |

wr w= way, foan, fiem, g, S5 o
ofa § et A B L7 i
L i R
1., @ a @ A fen fae

T 2 |
mﬁﬁ,ﬂmaﬂtffﬁmﬁﬁm%ﬁﬁﬁ#

fra frmm e aEi € | ?'!;,,“;5_ 84,
(A) et 11 it ’Eﬁ&.
By LusrmEaEE T e
1]
(C) =L, 1T “-;;.
(D) e | 3
In the following problem, there is one
question and three statements |
I, Il and LI statements given below the
question. You have to decide whether the
data given in the statements s suffictent
to answer the question. Read all the
statements carefully and find whick of | 8BS,
the statement’s is/are sullicient to answer
the given question : :
Who is the tallest among six children
Pragnesh, Tia, Nilesh, Deepa, Karti and

Ravi ?

N e e 1

Hl.

ﬁ}—Ta

GET IT ON
—— Google Play

L ———————

TF W8 § quET # I R O a9t 19
=3 12 § FEfF wF T m % SO0 44
a1 ) 7% HAE FY B W10 A0 R s A e
¥ ae T 7:00 99 5 Tz i o 9dt 3
ﬁﬂfrmléﬁau 7

(A) TEERWE 6:30 3 @

(B) TEEW A 6008
(C) TEET HEE 5:30 94
(D) TFEW g9g 5:00 94
A watch showed five past five on
Wednesday evening when the cerrect
ume was 5:00 p.m. It loses uniformly,
and was 5 mintites slow atter pvo days at
7:00 p.m. When did the walch show the
correct timie 7
(A) Thursday 6:30 p.m.
(B) Thursday 6:00 p.m.
(C) Thursday 5:30 a.m.
(17} Thursday 5:00 aum.

w1 997 =1 fHER w@

aH I
e o Rt 2
Select the answer figure in which the
question figure is hidden/ embedded.
g7 3R [/ Question Figure

o FTfeEl /| Answer Figures

& (&)%) [S)

(A) (B) <y (D

79 § 79 & o v T 9 I FEE TS
# ehift v & Bt SfR o w TE T
(A) 7EwE 5 e

(B} ?aﬁm:?ﬁ_ﬁ:{e
(C) 7 awent 5 fime

(D) 79w 5 fime

At what time between 7 and § o'clock
will the hands of a clock be in the same
strright line but, nof together ©

(A) 353 minutes past ?

1

(B) 3= minutes past T

{(C) 5 minuies past 7

& 2 . -
(D) F5 minutes past ;

Errn e amP o

L. Kirti is not taller than Tia and
Ravi. H
II.  Ravi is taller than Kirti but not as Eﬁ
tall as Tia. ]
I1l. Pragnesh is taller than Drecpa andg
Milesh but not as 1all as Tia- ;
(A) Only II and I i
(B) Nonre from 1, 1 and 11T !
(C) AL T and 111 -
(D) Only | andll i
T - s

oA =
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GET IT ON
Google Play

e e BT

e
e T
—rd-""‘"'"ﬁ“
-
e
I

MM3

B e
ﬂ.-'qz—rré. wadtﬂmiﬂﬂ?m&ﬂm? Eﬂsi g mﬁuﬁummﬁ _
b B) TR | el il 8

- ?:ﬂﬂ :’.D} TRAT | 3 P e

‘:-«:ria: was the day of the week on o ii i s ; - - e ﬁ}g

::1]? 1:4&:“':&‘- (B) Tu-:sdg?f 5 = T i%m:ﬂﬁ:‘l‘% |

‘.;m Wednesday (D) Thursaay :

ﬁi
ﬁmnqmﬁ:@;mﬂﬁmﬁﬁﬁiﬂ
ﬁﬁ#ﬁlﬁlifﬁﬂgimwg
v o Ew w S T 3, =
hﬁﬂﬂﬁﬂﬂﬁﬂﬁﬂmﬁﬁ
i 2 T e wgg R A H

1. %Mﬁﬁﬂﬂﬁlﬁﬁﬁi

(A) TAN ATEAFAR |

(B e B 11 FEECIHE 2
(C) S By | TR FTAIR |
D) 13 11 A e # |

m the question below is given 2
catement followed by two contlusions
pumbered 1 and 11, You have to assume
everything in the statement O be true,
then consider the two conelusions
weether and  decide which of them
logically follows beyond a reasonable
doubt from the information giver in the
slatement

Statement ; All the organised persons
find time for rest. Sunita, in spite of her
very busy schedule, finds time for rest.

Conclusions :

. Sumita is an orgamsed person,
[I.  Sunita is an industrious person.
{A) Either | or [ follows,

(B) Only conclusion I follows.

(C} Only conclusion | follows.

(D} Both | and U follow,

P e ] ik

ﬁ ﬁﬁmﬁmﬁaﬁ%#%ﬁ

e frm T ® |
forep «
| TR R
iy wwafEm R

(a) T Pt AR
(B) e vt A
(€ e Frewd 1A R
(D) e s WA E

The foliowing question consists of one
catement followed by two conclusions.
vou have to decide which one of them
can be followed.

Statement : Only smart and intelligent
people are invited into the conference.
Shakti has been invited to attain the
conference,

Conclusions :

I. Shakti is smart.

1. Shakai is intelligent,

(A) Either conclusion [ or Il is valid,
{B)  Omly conclusion 11 is valid,
(€} Only conclusion 1 is valid.

(D) Both the conclusions are valid.

I

&
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|||||||| B T T e O T i g

] T —

g9, ﬁ::{fhﬁm mﬂ*ﬂ#aﬁﬁﬁx v:ﬂ‘rr.—:,m

w1 UF F7 2 T FHP1F & TR 7HE &l gy |
1 %9 391 & 1 5 2 39 s =) forary |
A R s A FE T2 | fy A |
T ER ST ATHEOA § 8 v G oanaly
3#%71:;%13.«:3:136#@@;;%
~ et B |
The following question consiis of 3 set of
three rEltIEE J'{ Y oand 7 5!’1;:.1,\-”“: a
sequence of ﬁ]ld:nu of a piece of paper, !
Figure Z shows the manner in which the i
ivlded paper has been cut. Choose a i
figure which most closely resembles the !
unfolded form of figure £ from the Enurl?
answer figures given below,
urieHl] 32 / Transparent sheet

@UEE

(X) (2)
£ m@ﬁm ; Answer Fipures

D& &) (c3)

(A) - (B) (€) (L3)

W e

L

Foefafes srpfa 4, g7 @l @ ‘EFI
wfaFfire = 2 TrE 0
wftfatie aﬂm! aﬁqmﬂ&ﬁaﬂwﬁlﬁﬁxﬁ
;mn 2 3R Tawe w8 wfafie s
In the following figure, the eircle
represents purple, the triangle represents
white, the square représents a bird, and
the pentagon represents female -

3

4

6
¢!

Frfeafan § & =9 ot g wrer wikg vt
w1 Tl s 2 0

92.

o Py <5 - B LA i

GET IT ON
Google Play

e et e vy ot oy T ety FYTRER

ﬁrq{-c-rﬁ:ianh T4 i 4 M 1w fom e
F!r_q'lﬁif'—nﬁuﬂ?r i mfEs 7 O

‘T':FT'THTE'.

Choose which of the fnll,-.:.wu'@ lfjﬁglr_am
represeénis relatwomship among the given
elernents in a much logical way :

(©)o

gerag s, weEd dE m
=, FrEm, 9T

(A)
()
(C)
(D)
(A) Electronics, LED TV, House
(B)
(<)
()

Man, woman, child
Cup, glass, dish
Yepgetable, fruit, green

SEE (TTET) W SN sver-aen feataat
fradindd.

The four different positions of dice are
given below :

PP

& Ht FEm 6 & faulla wes Tl

Which nunaber is on the face opposite of
67

Which of the following number represents (A) 3 (B) 2
a female white bird ? ) 1 Dy 4
(A1 Br3 ()55 (D2 ]
il 15 - e

Mz
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GET IT ON
Google Play

—
B e g L

i et S B i oz 3 WG g | 3
kw194 A R IR
ﬁ-:zﬁ‘_—rﬁﬂmﬁt.{ﬂiﬁm}m LI ! Hﬁqﬂﬁ?“*ﬂgﬁﬁmm%ﬁ'ﬁﬁﬂﬂ?
; T e, laﬂiﬂﬂﬂ'ﬁﬁ‘ﬂﬁﬁﬁl ‘ ' 5y
a’ﬂﬂﬁnlﬁ‘j‘ T ¥ i gqq?gﬁﬁ#ﬁmqfifﬁaﬁfmﬁ
?ﬁ*ﬁ“‘”mﬁwﬁﬁ: i o & e AT A o o S
m:w@aéﬂﬁﬁsﬁ:qﬁmﬁé : %ﬁ@qazsgrqﬁmﬁm
i | s P g & WE T fare?
ELE
* i; kD el 5 1 T T 0
- S Lkt
i g
| fmgqh:ﬁ%mﬂmaﬁm E foreymny T A |
(A) qﬁmﬂxmum@% l
i Tﬁ‘wm%@ﬂﬂﬂnm?ﬁﬁ (B) 2% e 1 g 3 4
i () T | A € |
(&) St il i M “ﬁﬁﬁfﬁ:‘ﬁﬂwz‘ :
! }g“ the qgebs-ﬁun given below l:-?tasz?}e?l is
s [ g lowed by TWO argumenis | ane ‘on
(B) Faet 7 A t i have to decide which of the arguments 15
" 4 *sirong’ argument :
(Y Faa s nﬁf@g [ i Erm::;:gnﬁb Shf::l::[da cricket (eam have
e " E t:m than one captain duning a match -
1 :{_’Fﬁ =3 “-q-w 1 _l'!uml!lﬂi:
(e : : (i i‘l;f]:: hc;ne ;]t“ds 'tigr make del;:;sims
: : " n the spot an ere won't be time
The fRllowing question CONSISLS of @ 1 resolve conflicting 'Iét‘:as
qatement followed by TWO arguments | me:ﬂ e captains on the field of
y B B | SCENENG BITWCTEES.
and (1. You have 0 Jecige which of the : (I} Yes, it is always @tm to have
arguments is 2 STRONG argument ! ; Eﬁsrstahnﬁﬁ hi::%mjng fo an
1 ey 1 efore taking @
Gratement : Should GEW big industries ] decision, : ey
, _ (A) f(Ceither [ or Il is stron
be szarted in Mombai 7 (B 3 only 11 is strong. &
(C} Ifonly 1 is strong.
ArgUmEnts : (DY Tpeither I nor 1 15 strong.
[ Ve K will s job 1 2% %%ﬁﬁgw il w Aoy 1 @
opporunities. <o 3 el imﬂ, A Hﬁ_'E}ET S CEuk:
g TR T & I R | 39
4 No. ft will futher add to the 4R F) B S & 216 9 o 2
: _ Fr | 1 Al & FIE
paliution of dhe a1ty #W&Rﬂﬁgjﬁmw
: e \
(A} Ei i3 <7ONE. A cube 15 pay
{ Either [or I] 13 strOng surfaces aﬁzmnﬁi a&jﬂzm wo adjaent
)y Omnly argument il is stONG, ;ﬁpss ﬁj::.‘ H#E Surfatfr; 3‘25 Eugl;;wg:
T i “‘JE ACLE, '
() Cnly argument ] is strdng. 1; ijﬂ 2&& Sgﬁﬁﬂa cuﬁr{:.wn?etg‘; i Ez‘.:el;t
; m | N
() Neither [ nor 1 is strong. ! ::if;‘ ﬁ;: painted. of fubes’ with no
i - (B} 43 i
I (C}36 (D64

"‘"'-F-—n"b-'_h—-“_h—_"“-"

s
=

T
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o

94,

figure.
iz the To0m number of Charu
(a) 103 By 102
(Cy 101 (ry 1
(y 37 (BYIB Q)12 (D) 26 ﬁ
fgm : (O F‘Ffﬂﬂ}fﬂfﬁ?ﬂ eafd, TR 1 99, ﬂammﬁaaﬁﬁ@mﬁﬁt,ﬁ%
g5, T, it ?'Eul T 3 o = B o
ot ¥ 3 R A 6 T arvy e e s A e 4
i_._ra:ﬁ;m i (A) 164 (By 106
o7 R & @ 101, 102, 103, i04, 103 | (© 105 (D) FvEE
¥ 106 (wd & ) ? d y" } I Bajaj is in reem aumber second to the
- F A R 1 5 eft of Char, in which room number
M_‘; iy = % dw T el s does Arundhati siay
FWAAED | (A 104
m‘ﬁﬁm%aﬁﬂ#iﬁmﬁm’tﬁil {;} 5
mﬁmﬁmﬁwmmﬁﬁmmii o 0
rion § {Q 97-99) Six people Arundhati, .
Dirﬂ[:"-:_;]aj. E:?lﬂn-l., Devesh, ]g;?na and Farima (D) Insuflicient Daia
go for @ vacation to Haly and they book ©
roams in a koiel. y x
There are six ro0mMS numb?lj:d m}i:f]tnl 100, Prefafad JEe wem &1 78 B el
103, 104, 103 and 106 (from i€ to :
right) and each person geis 0n¢ room mem%%
each. 5 y diaic] .ABCDEFGHI'JKLMNDPF:S
Arundhati is aot in (he ro0Mm tmmediatcly TUVWXYZ
t the [eft or immediately to the right of : N
Bajil. o wwﬁmﬁaﬁﬂmﬁaﬂ%aﬁﬁ
Chary is In a room immediiely - -~
left of Devesh’s room. aedl REREE |
Fatima has not beef allotted z0Om The following series is provided and you
b 18 need to angwer the guestion accordingly :
97, mﬁmﬁmmmé@ﬁmwa? ABCDEFGIHJKLMNDFRS
(A} 104 (B) 103 FTUVWXYZ
(€y 101 D) R {n this serics find the leuer which is fifth
Fnﬂ;;ﬂﬂ ml:ja;s hg:n allotted with which io the left from the thirteenth lefler from
T n er 7 _
{A) 104 : yout right.
}33; 1 (A) H (8} |
g cy M (1
MM3

B

- 9 G g B

fyd s S ) e T

Find the number of triangle in the givén

et i - PP T BT ¢ e IR = S

i 08. oty ¥dm =a0 &0 105 8
T S R

i
i
i
i

P

GET IT ON
Google Play

o i B S - e < g

G4 oA

A T e U e T e PR Y

[f Devesh is 1N Fo0T number 105, wiat

_—.—-rﬂ-

(I3 Insufficient Datad
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o v

g i )

s o b T Y e, o P kg =B D, S e ST s R —-q-m‘-;;p'ﬂ'} nm
FIEHAT [ General Aware
TR i

_ gt fEmil B =i g
101, Frferfn 8 2993 W oA 7o w2 | 105, FEEE 2

3 : frefeles v 3
Foavd o1 2 2 ?ﬁ*ﬁ‘-”*r‘"%mﬁii? .
(A) T 3 Hmmﬁm (B) I HEH .
(B) %m‘r&eﬁr@ﬂm & :é;: gEEE (D) THSH

U asicon |t e e
Which ameng of the following national mmf;ﬂ;gam ha'r‘;lﬁ{ﬂ UV-Ultra Yiolet
parks is also a uger reserve ? ﬂ“ﬁ

(A} Panna Nanonal Park ;;"1 Mesosphere {Bl Stratosphere

(B)Y Nandadevi National Park I{LC] :l:mpasphm‘: (D} Thermosphere
{C)  Hemis National Park

(D) Kcoladeo Ghana National Park {106, FyFe gogm =1 g?ﬁmﬁ ff‘-lﬁ,ﬁiﬂ =
W2 "oy’ o FEEw oY R dEd g 9 % TN :

TN TAE iRl (A) THACT ad (B) Il cd e

. EIEE T R Cy ImEEs (D) EugeEdd oR
m&mﬁ e y ~ f lens is used o correct near
R iEfsfarid e s mama i ‘L‘y’h]chtg,'pa:g i
el ey 8) W 1?:1} FIMEI lens
- @) T (B} {Tnuca\'ehﬁ
“Kudrermukh™ which is the thard tallest peak of

. : (C) Convex lens

Kamataka state situated in Chikkamagahu | (D) Plano-cencave lens

district, this particular peak is having shape

of one animal’s face, which among the {107, Frfifias % & fam ven 4, fam =1 v
following is that animals 7

_ W T TER TR~ “Sege e
(A} Elephant  (B) Lion nfhrggm (Keibul Lamjao National
(C) Horse (D) Deer Park) a2 7

103. gonfer ammar Fofafas & & faw = (A) wEm By =R
98 FE i 7 tpﬁm (D) Tafem - g

ich of the followi s, World's

["é"]' hw (g} S nrr.:;;' Ifio;ingtﬂmimc: “Keibul
(C) ufirgh (D) 3ifeeh Lamjao National Park™ is situated 7
With which of the following an forms (AY - Assam (B) Manipur
Mrinalies Sarabhat was associated ? (C) Meghalaya D) Sﬂdz%
(A) Bharatnatyam (B) Kathakali 108, Frsfufisa & Y ,mmﬁmﬁ
(C) Manipuri (D) Odissi ! ww mﬁ%mwm

104, Ffen g 0 e, s 97 3 UERIEI TR = R i W S
B £, form ven & R 2 9 for Ak Yo <ffan 2 2
(A) TRW-  (B) TR A) B afomn 8) o @R o0
(© faew (D) mE Vit (D) e gl
e Duidhist Cave compler, | ety g e JDllowing Inee
where three news caves have been work on ﬂ‘lﬂm:tiia] n]:l.lld?“ze“f L
discovered, is located in which state 7 Physical Processes of im s e 10
(A} Uttar Pradesh Sthucture and evolution o the stars 7
(B} Maharashtra A)  Homi Jahangir Bhahh:
(C) Bihar (B) Dr.CV. Ramax,
{13} Madhya Pradesh }Ei %— : khar

MMA S - diyendra Nath Bose _._..--é"
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109, &1 3 i it e 3 Pesfifiaa B 3 110, ﬁﬂ%ﬁ?ﬁﬂﬁxgé?ﬁ‘%m%ﬁﬂqm
R TR A giia ne s w g & Wit diferl did T2 R R
T e 0 _:. (A) wTA (FF SR
(A) Frege B) Igh- (©) (D) HEH

; : e < In which of the following countnes more
{C) R (D) =TT than 1 million Ei’crlm r}-.fazmnes WETE
Union Home Mirister Amit Shak destroyed amid violence ” :
saunched the “Safe City Project” in which | Eé; Eﬂ:inc '[%{ E‘ﬁiﬁ
among the following cities ? 1. U ER R R
(A} Benpaluru  (B) Udupi ilH' wmﬁmq » E FAGH OIS 2
(C) Dijapuws (D) Belgaum i :

F=AH ET srTer & o ¥ 2022-23
110. WFT # vgen 38-78A (Brommh-gfm) % fom weig O v e & e

T ER SR W w0 1 "ETR A B SR W e 2
(A) FETER - (B) fzvEr- (A) EHERNETRNEIN WIF I, e, 3
; (B) TSR HeeTTE MR, T e .
(C) ¥ (D) <@g (T T FE0mE e, S
Where is the first 3D-prinied (Three (D) Hre 920ME Vit S
l'.'linmmmiw?nﬁwd} Posi office in India '“.-h -h f the foll - f{; h recentl
bemng constructed ? e o nwm§ P - >
" bagged “The Sagar Shreshtha Samman
(A) Ahmedabad (R) Hyderabad Avwards” for the best Absolute Perfortanmee
(C) Bengaluru (D) Dehradun ﬁ'-l-"f:rd for 1he }Itﬁ: ﬁ]ﬂl{fl‘i for ha[_nigling
il ) o the highest cargo e Ministry of Ports,
111. =i fiam +i v = = e am sng}pp%g anﬁ'ate:lr:wa}-s 7
3 1 {A) Deendayal Port Authonity, Kandla,
tfmmiami. . Gt
(A} T=® iB) %= - (B) Vishakhapatnam Port Authority,
B ks Andhra Pradesh
(C) P‘I’TE_TH _ jL’Ur} = _ _ (C) Paradip Port Authority, Odisha
I_un":gﬂm Intensity is cxpressed in a unit I {iD} Kochin Port Authoriry, Kerala
named :
(A) Tesla (B) Candela 115, Al i s CO, HHRA 43 37k
(C) Angstrom (D} Newton

T T 9 2 e e gm0
112. el dd e e s el & {A) 74 (B) wHeh .

B =0eR ofind (W) =9 § (Cy =rrH 0y Fmm

e Bt ‘:n-'fhic:h ‘:rhnung the following counrjes
4 2 came the first country 1o wmport CO,
{A) mmzﬁﬁmmmh and bury it under ses 2 )
(B) mErEgR = TR (& Norway %ZJ Mali
= Denmark ) Oman
ﬂﬁﬂiqﬁ'ﬁ_ 146 FW 3R Remr weamr vrerg sk NAFED
(D) STH SRS _ mmmmh{wc}'w
Dilute aqucous solution of which among ! 3% Ry 1y o7 9
the ﬁ:.!.h?mg 15 usedd as a weak annsephic (A) :ﬂgw {,B} m
for cyes * ; | ) wEs, (D) 3 feeeh
{A) Mixture of chloroxylenol ang Where was the firse Mallets Experience
. ?Ii:_-lrpml:l::l'l A Centre {MECy' launched by mémis
(B) Tincture of lodine of Agriculare & Farmers Welfare an
(C) Borie Acid NAFED 2 )
(D) Sulphur Dioxide {A) Ahmedabad (B) Mumbai
= S 2 1€} Lucknow ) New Delhi
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e o o s T g u--.-n-"' """.H'“'-rvd:: m e 1

L7 it 0 haen % & W By 3 Loy il 5 3 S 3TN g
Tl afeendl # Rl o gy 1 R ind e )
fore *Fifec T e fos 7 | ) e e
(A) T9H (B) wewmffl. 1 (B) %‘;@ gﬁiﬁaﬁtﬁ%’mﬁ}
(C} Trme (D) =R L(© ﬁ‘( ~
Which among the following districis of | {“.;ﬁ' hof tﬂ: folipwing institutions publishes
Odisha, launched “Nirkhyana app” to i i ngm'?&} Stakality Report” of India ?
track condition of pregnant women 1 ! i Al} IME (International Mcnﬂgrﬁ' Fund)
(A}  Ganjam \B)  Malkangiri g B} RBI (Reserve Bank of ‘:Ilndl_a
(C) Ravagads (D) Bargah A SEB!d (?{:cﬂ;ms and Exchange

g : i Board of Indj
oy e 2 ﬁ~§"" ;"g el dorc i ‘i@ (D) NITI Aayog

T, Ffafen | @ fam simivi wiem
1 1959 51 % 458 yemn w2m fan
(A) WMIFER  (B) =z
{C) &g (D) wies g=it
Recently, members of the Ramon
Magsavsay Award Foundation,
personally presented the 1959 Ramon
Magsaysay Award to which of the

7

FgT TR ?
(A) Ty (B) rebam »

(C) Tafwmr-mma (D) mwrA fasm |
“The Noble Prize” has been honoring
men and women around the world from

Y ] , t vear 1901, which among the fﬂﬂDwinE
fngming m;_z:mqnnnal personalities after T}E!}ds }ws been added BLI: ear 19!‘.‘:8; :
a B4-vears of wait 7 cace ONOMIC Science
(A} Ravish Kumar (B) Dalai Lama ,p..\EC) Medicine SD} Chemistry
(€) Roberto Ballon (D) Steven Muncy rui}-g@m aifSrdl e 3 % fr 2022-23
9. 427 sfwm frgy wdmm (AsEAN | g@q'ﬂ@ %ﬂ,"“ﬁ“ Sy b s
z‘f‘?;’:;“ﬁ“m RS R e | RER (B) ¥2.727mw
e C) T6.72¥m@ (D) ¥10.72 wm@
(A} =rm A ﬁ;ﬁii w0 % fom, fen @ The National Slalist&:;! Office said the
T 3 estimated annual per capita at curent
Per cap
(B) FEEm= nices for 2002-23 stands at :
© ?;f“ % ¢ 172 Takh B TTTIRRD
¢ theme of 42 ASEAN Summit §124, R ity a ; )
“ASEAN affairs : % ﬁﬁ%% = ?Q SN
(A} Ta invest i people, prioritize (&) Tm (B) Hfi
Gy Bpiometen of i =) We- (D) gewfa
(C) Vasudhaiva Kutumbakam The word “The Sea of Tranquility” i
(D) Sustainable Development for all Selestial boath, Which of the following
120. wfeen kel =1 tmnfrs oy 3 forn ars (B; Sun
Wﬁiﬁﬁﬂtﬂmﬁﬁmﬂm%? 125 ) (D) Jupiter p
(A) TEsien (B A2 : ﬁﬁﬁ?m’iﬂﬂﬁﬂi“ﬁ
(C) (Dy = L TR
The "Debbie Hockley Medal to honour [g} TR (B) e 39
women crickelsts has been launched b ( . D) waria qEE
hich ? ? ich i) deep®
Which country ? imﬁ_ﬂm:mgﬂ-,e following is the dee
{A) Nigeria  (B) New Zealang A) Rt o sealevel on the earth 7
(C) Nepal (D) Norway C{ Dgfg: ) Mariana T
O " e . =
i i O P02
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126. Frerfrfiaa shidt & & # ot vrn 1 g@tt | 131, e § yare s Tea s g ad |
o w9 i ot A s # 9 o i UF A7 9 WAt 1 T A R | 3w fa

o d e i 0 nﬁﬁanfhnaﬁm?g_mm?
{A) 9o . (B) o “Pravasi Bharativa Divas” is celebrated
(Cy e (D) E;: in India on 9" January once every two
Which among the following lakes s the years, Th;sr?day first was observed in
zbd_ [zujgest %ﬁ'ﬁsh-watu‘ lake of Asia WhlEhﬁ}’L‘BI‘ i . %
which is situated in Jammu & Kashmir ? 1 %*’t; 2003 t.%:' 2002
}A% Wular %B} Pulicat S | Cy 2014 - (D) 2005 —
C) Kausar D) Dal 132, W =1 Seen i - fi et S
127. fifafiga # 4 e e w owee @ fafiryg e oefiema (ILMT) Frerferfia & &
e & fum # 9 T areprren & wifie R 22
(A) wrEEm (B) FAR | (A oy E SEe, AReE
(C) wifrm . (D) T (B) Ferere el (3odg e seEe
At which of the foilowing sites are Coal : W% HEATIFE UEET [T |
fields located in Jharkl'n,an% 7 atrae), e, Fwoey -
g&; Lohardaga B} Kanpur - ot Py i i 2
g %U,r RonplL (C) :%a?h i AT G IE e, dmei
128. Higum & fy=ifefea o @ few a=te & (D) H= HadE TaEy A
w8 N7 F e o T o  Eefreni, wera
el 3 India’s first liquid-mirror telescope, the
S&mwhw ? e . . International Liguwid Mirror Telescope
mulgated on a in India ? o ollowing observatories ?
F o m};.;g.a {A) Vainu Bappa Observatery, Tamil Nadu
C; 326 }D% 380 (B} Devasthal Observatory {Campus of
129, Wit & =0 &, 7y fusdtg Py 3 ::; = Aryabhatia Reszarch Institite of
# feafafes 4 & e o & R Observaticnal Sciences [ARIES]),
TR A R 7 Nainital, Uttarakhand
(&) w2 Y & 3am (C} Indizn Institute of Aswophysics,
(B) HIR M. Bangalore
(C) FRwHE (D Majarb Amwspheric  Cerenkov
(D) Horm i oy I Experiment Telescope, Ladakh
in the State of India, the State Financial { 133. Y5% 710 foflga “g=awfis” = et
Corporation have given assistance mainly o fefafem i g Sa e
to develop which of the following ? (A) TITH .
A) Large-scale industries * (B fram
B Comsa e W)
cuitural farms T - - ;
D edi-.lllm and small-scale industries e ofthe following is the literary types

of “Mrichhakatika” wri .
130. fg 2t T wdta ford &% afnfsrs &6 A T 0 Sk |
C %D} Essay
)

v e B, 7@ ErakeicIb 8 Commentary Poeby
(A) & (B) Radtiig. {134 YOm dfwn H P

(C) HiFmm (D) EUSAR TS 3 AR AR, ¥
The rate at which the Reserve Bank of (A) A (B) mé;ﬁq v
1ndia”‘t§nds money (o commercial banks (C) =ueff (D) w3
}?qﬂ ‘f{ e;gﬁéﬁ_- The schedule of the Ingian Censtirution
(B} Reverse Repo Rate Which is about scheduled languages. is
51:: CRR “;{“fhlgl{“mgthe fnll.:};.vin{?l

4
D) SLR .;{ % ;\D,} Vi

i3 b1 R TTTMM3
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6. Tefefer ¥ 3 fem owmm W T

3T

(A) T8 (@) THEYTEE wEm
! ’ R
(C) oqw » {LH o
.-H’lrs:: Shivaji's death. effective power B the
Maraths siate was wiclded by a family ©
- whe served Shivajl 5 sucerssors
is Peshwa. A

E.r\i Kunbis

B} Chimpavan Brahmanas

CY  Dashmukhs

) Pauls

wan SR AR
(A} W0 (B) =mwed i
() FITEH (D) TEASIES -

A statue of “Fries! _J{Jn%i was found at
which of the fnllwh'mg places ?

{A) Harappa Lothal

(C)  Kodij D) Mohenjo Daro
1596 5 ~rmE o o s e 7
(A) TETH ZAEE A

(5) e iy

(C) = fEwme -

e Widw{a arnakrishma Mission™ in 1596
Who Sunded “Ramairishna Misson i :
to czemy Furmanizanan relief and sociai work 7
‘A} Swami Dayanand Saraswal

(B) Ramknshna Parambansa

(C} Swami Vivekananda

(D) Swame Brhamananda _
Erafafea © 8 w19 2 o ATE = gfem

L i LT

B S i o L g R YN g T

. e AT T T T TRy S P TR i T
'

141.

—
s

138 T
¥ 5 T 7 .
(4) FREEZ. (B) i e o
(C) afrsFErmerd (D) e e
Who among the following is the author
of the book “The Binth of New Indig™ 7
{Af Annis Besant
(B) John Milten
(C) Mank BEandopadhyay 143,
(0 Jawaharla) Netiru
139, FENR FEE gwaney fefdies & |
o T dmiea pen B feam @ 0 g
(A) & " (B) T
(C) = (D) .
The Karakoram Wildlife Sanctuary is
located in whith among the following
stales/LITs ?
(A} Ladakh (B) Karnaiaka
)y Kerala (D) Puducherry
MM3 22
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srary
J— T
r

g i faafRaTem

: i ' ities
fllowing ancrent wiverst
Il & INESCO Workd

[pdia ?

(4) Vallabhi
(B} Malanda Mahavihara

(C) Wikram

ashia

() Banaras Hindu University
b TRk aﬁm FAE?
(A) Ziagt (FAEEHHB) T

() TEEEA

1 o Tee e

Whe was the founder of Rashirakuta dynasty ?
(4) Dantidurga (Dantivarman)

{B) Harshvardhan

(C)  Mahendravarman 1

(D} Simha Vishnu

. Fafefer 4

§ o mf # e

T o v o o7 2

{A) TN ST TR

(B) 31 & 3R, apdTwy » 5
(C) waTem Teft

(™

oH

Who among the following had atiended
all three round table conference?

{(A)  Lala Lajpst Raj

(B) Dr.8R. Ambedkar

(C} Mahatma Gandhj

(D) Chinaranjan Das
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144. wrmﬁzgn-rﬁ m:{ﬁﬂ%&ﬁﬁﬁﬁmi 148. ﬁmﬁﬁa-ﬁﬁﬁmmﬁwﬁuﬁ#
J : " 3 FTE
() o) (A) ﬁqﬁ@ﬁ%ﬁﬁqmﬁﬁqﬁ% le
The place “Noonmati” in india is associated (B) Wh L Ll -
with which of the following industry ? Tt
(A) Petrojeum Industry : =T T THF
(B} Textile Indusiry () i siget 3 T wa et he
(C) Salt Industry (D) v Fae & 95 2l
(D) Plastic Industry Which of the following statement s
145, P=faftg # & 314 @ %A e Wi correct about the planct Jupiter *
W, %ﬂﬁﬁ'&"'?ﬁﬁ . (A) It is 2 planet which does not
> ég;.w 31 3, 2018 coitiB S BEC
£ | (B) Jupiter is the second largest planet
B) ° T ?Lﬁ?‘o[ 3 itz Fe _ of the Solar System-
ifeme (C) It has the shortest dav in the Solar
(©) TR seiaE AR AFAR E System.
(D) d%q?m 1 Sard T 182 (D) Ithas pnly twi moons.
Hiz (507 $12) B | .
which of the following statemnents is not 149, FEAfeHET % 4 fopg 70 w1 el T
correct about the “Statue aof Unity'? £ & ¥t W A 2 & wea ¥ & Rl
(A) The Statuc of Unity was dedjcated gféndt w2 d TEiE 1 TH ’fﬂ?ﬂ 2
to the nation on 31 October, 2018. ﬁﬁﬁﬂﬁﬁﬁﬁﬁw &7
(B) ;?mtued of Unity}&s located M (A) TGS il
armada district of Gujaral. STTEAT AT AT
(C) « Its height is less than the Sprin (8) #
Temple Buddha e () Femid
(D) The height of the Sratue of Lnity 1s ,
Fhout 182 meters (597 f). Which of the following mountains is also
known as “Elephant Mountains™ 51
[ M 1fuaf
146, “¥wiE T i Tretferfin 3 & fred at a range of mountains in the m::d
@;1%? Western Ghats of central Ke g
(A) ¢HE (B) dreAmE span the border of western Tam'lm 1-1]& ﬂ;d
%:1:; drigft « (D) TS f;‘} Valparai H P
he term *Backhand Strokes is associated (B) Anama e
with which among the following 7 (C) Yela il_a e Araemaiel
(A} Tennis (B) ‘lu"mﬁf:yball ) Kﬂﬂf% -
{C) Adrchery (D) Chess o ur
A w1 TEH £
147, v & ware ffrat ffafan # § R frtfirfiaa & & fam ™ U ) W
zoqy T urd e # 2 47 et % vt Tomm
(A) ATemy TN (B) HgE . (A) TiHER
gfgmlaﬂmiﬁaz (D) gl;n (C) T :gi ki
ral reefs in India can be found 1 In whi
.E.,i..;ch among the following piiu&s- s hig.gchs‘zch of the following districts, the
&) Waltair Uplands Prades solar power plant of Ul
() ‘(I:'I_tllllfnl‘h-{unnar esh has been setup 7
(D e Coast of Orissa (A)  Gorakhpur B
) Trivendrum ) A (B) Mathurs
i ) =i _m____fl‘ﬂ (Dy Mirzapur
i LE MM3
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